## A generalization of the classical circle problem

by<br>Yong-Gao Chen (Nanjing) and Min Tang (Wuhu)

1. Introduction and results. Let $r(n)$ denote the number of representations of $n$ as a sum of squares of two integers. The classical circle problem is to study

$$
P(x)=\sum_{0 \leq n \leq x} r(n)-\pi x
$$

The best known upper bound is due to Huxley [6]:

$$
\begin{equation*}
P(x) \ll x^{131 / 416}(\log x)^{2.26} \tag{1.1}
\end{equation*}
$$

It is conjectured that for any $\varepsilon>0$,

$$
P(x) \ll_{\varepsilon} x^{1 / 4+\varepsilon} .
$$

It is well known that

$$
\begin{equation*}
\int_{0}^{X} P^{2}(x) d x=C X^{3 / 2}+Q(X) \tag{1.2}
\end{equation*}
$$

where $C \approx 1.68396$. The best known bound for $Q(X)$ is due to Lau and Tsang [7] (see also Nowak [9] for a similar result):

$$
Q(X) \ll X(\log X)(\log \log X)
$$

This implies that

$$
|P(N)| \geq 1.5 N^{1 / 4}
$$

for infinitely many positive integers $N$. Hence

$$
\sum_{0 \leq n \leq x} r(n)=\pi x+o\left(x^{1 / 4}\right) \text { cannot hold. }
$$

Let $k \geq 2$ be a fixed integer and let $A=\left\{a_{1} \leq a_{2} \leq \cdots\right\}$ be an infinite sequence of nonnegative integers. For $x \geq 0$ let $r_{k}(A, x)$ denote the number

[^0]of solutions of
$$
a_{i_{1}}+a_{i_{2}}+\cdots+a_{i_{k}} \leq x
$$

For a positive constant $c$, let

$$
P_{k}(A, c, x)=r_{k}(A, x)-c x
$$

In particular, if $A=\left\{0,(-1)^{2}, 1^{2},(-2)^{2}, 2^{2},(-3)^{2}, 3^{2}, \ldots\right\}$, then

$$
r_{2}(A, x)=\sum_{0 \leq n \leq x} r(n)
$$

In 1956, Erdős and Fuchs [2] proved the following unusual result:
Theorem A. If $A$ is an infinite sequence of nonnegative integers, then

$$
r_{2}(A, n)=c n+o\left(n^{1 / 4}(\log n)^{-1 / 2}\right) \text { cannot hold }
$$

for any constant $c>0$.
Jurkat (unpublished), and later Montgomery and Vaughan [8 improved the Erdős-Fuchs theorem by eliminating the $\log$ power on the right-hand side:

Theorem B. If $A$ is an infinite sequence of nonnegative integers, then

$$
r_{2}(A, n)=c n+o\left(n^{1 / 4}\right) \text { cannot hold }
$$

for any constant $c>0$.
Up to now, the Erdős-Fuchs theorem has been extended in various directions. See [1], [3], [4], 5], 10] and [11].

Recently, the authors [1] proved that

$$
\left|P_{k}(A, c, n)\right|=\left|r_{k}(A, n)-c n\right| \geq 0.04([k / 2]!)^{3 / 2}(c n)^{1 / 4}
$$

for infinitely many positive integers $n$.
Motivated by the Erdős-Fuchs theorem and $\sqrt{1.2}$, we consider the asymptotic properties of

$$
\int_{0}^{X} P_{2}^{2}(A, c, x) d x
$$

Since $A$ is a general sequence, the method for the classical circle problem cannot be applied here. Note that not even the assumption $r_{2}(A, x)=c x+$ $o(x)$ guarantees

$$
\int_{0}^{X} P_{2}^{2}(A, c, x) d x=O\left(X^{3 / 2}\right)
$$

For example, let $A=\left\{0,1^{2}, 2^{2}, 3^{2}, \ldots\right\}$; by 1.1 we find that

$$
\begin{aligned}
r_{2}(A, x) & =1+\frac{1}{4} \sum_{1 \leq n \leq x} r(n)+[\sqrt{x}]=\frac{1}{4} \pi x+\sqrt{x}+\frac{1}{4} P(x)+O(1) \\
& =\frac{1}{4} \pi x+\sqrt{x}+O\left(x^{1 / 3}\right)
\end{aligned}
$$

In this case, we have $c=\frac{1}{4} \pi$ and

$$
\begin{equation*}
P_{2}(A, c, x)=r_{2}(A, x)-c x=\sqrt{x}+O\left(x^{1 / 3}\right) \tag{1.3}
\end{equation*}
$$

By (1.3) we get

$$
\int_{0}^{X} P_{2}^{2}(A, c, x) d x=\int_{0}^{X}\left(\sqrt{x}+O\left(x^{1 / 3}\right)\right)^{2} d x=\frac{1}{2} X^{2}+O\left(X^{11 / 6}\right)
$$

Now we consider the following problem:
Problem 1.1. Is it true that for any infinite sequence $A$ of nonnegative integers, any $c>0$ and $\varepsilon>0$ we have

$$
\int_{0}^{X} P_{2}^{2}(A, c, x) d x>_{A, c, \varepsilon} X^{3 / 2-\varepsilon} ?
$$

In this paper, we prove that under the natural assumption of $r_{2}(A, x)=$ $c x+o(x)$ the answer to Problem 1.1 is affirmative.

ThEOREM 1.2. Let $A$ be an infinite sequence of nonnegative integers, $k \geq 2$ be a fixed integer and $c$ be a positive constant. Then for any $\varepsilon>0$ the estimate

$$
\int_{0}^{M} P_{k}^{2}(A, c, x) d x \geq\left(H(k, c)(\Gamma(5 / 2))^{-1}-\varepsilon\right) M^{3 / 2}
$$

holds for infinitely many positive integers $M$, where $\tau_{k}=k-2[k / 2]$ and

$$
H(k, c)=2^{-9 / 2} e^{2} c^{1 / 2}\left(\frac{k-\tau_{k}}{k+2 \tau_{k}}\right)^{2}\left(\frac{k+2 \tau_{k}}{3\left(k+\tau_{k}\right)}\left[\frac{k}{2}\right]!\right)^{3 k /\left(k-\tau_{k}\right)}
$$

Corollary 1.3. Let $A$ be an infinite sequence of nonnegative integers, $k \geq 2$ be a fixed integer, and $c, \beta$ be positive constants with $\beta<1$. Assume that $r_{k}(A, x)=c x+O\left(x^{\beta}\right)$. Then for any $\varepsilon>0$,

$$
\left|\left\{0 \leq n \leq M:\left|P_{k}(A, c, n)\right| \geq\left((\Gamma(5 / 2))^{-1 / 2} \sqrt{H(k, c)}-\varepsilon\right) M^{1 / 4}\right\}\right| \gg M^{3 / 2-2 \beta}
$$ for infinitely many positive integers $M$.

ThEOREM 1.4. Let $A$ be an infinite sequence of nonnegative integers, $k \geq 2$ be a fixed integer and $c$ be a positive constant. Assume that $r_{k}(A, x)=$
$c x+o(x)$. Then for any $\varepsilon>0$,

$$
\int_{0}^{M} P_{k}^{2}(A, c, x) d x \geq\left(5^{-3 / 2} H(k, c)-\varepsilon\right)\left(\frac{M}{\log M}\right)^{3 / 2}
$$

for all sufficiently large numbers $M$, where $H(k, c)$ is as in Theorem 1.2.
We pose the following conjecture:
Conjecture 1.5. For any infinite sequence $A$ of nonnegative integers, any integer $k \geq 2$ and any positive constant $c$,

$$
\int_{0}^{M} P_{k}^{2}(A, c, x) d x>_{A, c, k} M^{3 / 2}
$$

for all sufficiently large numbers $M$.
REmARK. By 1.2 , the case of the circle problem shows that if Conjecture 1.5 is true then it is sharp. In the above results and the conjecture we have the corresponding conclusions for

$$
\sum_{n=0}^{M} P_{k}^{2}(A, c, n)
$$

These can be derived from Lemma 2.2 of Section 2. In fact, the corresponding results are contained in the proofs.
2. Proofs. Throughout this paper, let $z=r e(\alpha)$, where $e(\alpha)=e^{2 \pi i \alpha}$, $r=1-1 / N$ and $\alpha$ is a real number. We write $F(z)=\sum_{a \in A} z^{a}, A(n)=$ $\sum_{a \in A, a \leq n} 1$ (counting repetitions).

Lemma 2.1. Let $\beta>0$ and $r=1-1 / N$, where $N$ is a large positive integer. Then

$$
\sum_{n=0}^{\infty} n^{\beta} r^{n}=\Gamma(\beta+1) N^{\beta+1}\left(1+o_{N}(1)\right)
$$

The proof is similar to that of [1, Lemma 2.3].
Lemma 2.2. For positive integers $M$, we have

$$
\int_{0}^{M+1} P_{k}^{2}(A, c, x) d x=(1+o(1)) \sum_{n=0}^{M} P_{k}^{2}(A, c, n)+O(M \log M) .
$$

Proof. Let $n$ be a nonnegative integer. Then for $n \leq x<n+1$ we have

$$
P_{k}(A, c, x)=r_{k}(A, x)-c x=r_{k}(A, n)-c n+O(1)=P_{k}(A, c, n)+O(1)
$$

Thus

$$
\int_{n}^{n+1} P_{k}^{2}(A, c, x) d x=P_{k}^{2}(A, c, n)+O\left(P_{k}(A, c, n)\right)+O(1)
$$

Hence

$$
\begin{aligned}
\int_{0}^{M+1} P_{k}^{2}(A, & c, x) d x \\
& =\sum_{n=0}^{M} P_{k}^{2}(A, c, n)+O\left(\sum_{n=0}^{M}\left|P_{k}(A, c, n)\right|\right)+O(M) \\
& =\sum_{n=0}^{M} P_{k}^{2}(A, c, n)+O\left(\sqrt{M}\left(\sum_{n=0}^{M} P_{k}^{2}(A, c, n)\right)^{1 / 2}\right)+O(M) \\
& =\left(\sum_{n=0}^{M} P_{k}^{2}(A, c, n)\right)^{1 / 2}\left(\left(\sum_{n=0}^{M} P_{k}^{2}(A, c, n)\right)^{1 / 2}+O(\sqrt{M})\right)+O(M) \\
& =(1+o(1)) \sum_{n=0}^{M} P_{k}^{2}(A, c, n)+O(M \log M)
\end{aligned}
$$

To prove Theorems 1.2 and 1.4 , we first prove the following result.
ThEOREM 2.3. Let $A$ be an infinite sequence of nonnegative integers, $k \geq 2$ be a fixed integer and $c$ be a positive constant. Assume that $r_{k}(A, x)=$ $c x+o(x)$ if $k$ is odd. Then for any $\varepsilon>0$,

$$
\sum_{n=0}^{\infty} P_{k}^{2}(A, c, n) r^{n} \geq(H(k, c)-\varepsilon) N^{3 / 2}
$$

for all sufficiently large numbers $N$, where $H(k, c)$ is as in Theorem 1.2.
Proof. Since $1-1 / N \geq 1-1 /[N]$ and $[N]^{3 / 2}=N^{3 / 2}\left(1+o_{N}(1)\right)$, it is enough to prove Theorem 2.3 for all sufficiently large integers $N$.

Suppose that there is an $\varepsilon_{0}>0$ such that

$$
\begin{equation*}
\sum_{n=0}^{\infty} P_{k}^{2}(A, c, n) r^{n}<\left(H(k, c)-\varepsilon_{0}\right) N^{3 / 2} \tag{2.1}
\end{equation*}
$$

for infinitely many positive integers $N$. Then $\sum_{n=0}^{\infty} P_{k}^{2}(A, c, n) z^{n}$ is absolutely convergent for $|z|<1$. Since so also is $\sum_{n=0}^{\infty} z^{n}$, the same is true of

$$
\sum_{n=0}^{\infty}\left(1+P_{k}^{2}(A, c, n)\right) z^{n}
$$

As

$$
\left|P_{k}(A, c, n)\right| \leq 1+P_{k}^{2}(A, c, n)
$$

the series

$$
\sum_{n=0}^{\infty} P_{k}(A, c, n) z^{n}
$$

is absolutely convergent for $|z|<1$. Since $0 \leq r_{k}(A, n) \leq c n+\left|P_{k}(A, c, n)\right|$, also the series $\sum_{n=0}^{\infty} r_{k}(A, n) z^{n}$ is absolutely convergent for $|z|<1$. By

$$
\frac{1}{1-r}\left(\sum_{i=1}^{T} r^{a_{i}}\right)^{k} \leq \sum_{n=0}^{\infty} r_{k}(A, n) r^{n}
$$

we know that $\sum_{a \in A} z^{a}$ converges absolutely for $|z|<1$. For $|z|<1$, we have

$$
\frac{1}{1-z} F^{k}(z)=\sum_{n=0}^{\infty} r_{k}(A, n) z^{n}=\frac{c z}{(1-z)^{2}}+\sum_{n=0}^{\infty} P_{k}(A, c, n) z^{n}
$$

That is,

$$
\begin{equation*}
F^{k}(z)=\frac{c z}{1-z}+(1-z) \sum_{n=0}^{\infty} P_{k}(A, c, n) z^{n} \tag{2.2}
\end{equation*}
$$

Using the idea of Jurkat, by differentiation of 2.2 , we have

$$
\begin{align*}
k F^{k-1}(z) F^{\prime}(z)= & \frac{c}{(1-z)^{2}}-\sum_{n=0}^{\infty} P_{k}(A, c, n) z^{n}  \tag{2.3}\\
& +(1-z) \sum_{n=1}^{\infty} n P_{k}(A, c, n) z^{n-1}
\end{align*}
$$

Let $\delta$ be a positive constant to be determined later, $m=\left[\delta c^{-1 / 2} N^{1 / 2}\right]$, and let

$$
\begin{aligned}
J & =\int_{0}^{1}\left|k F^{k-1}(z) F^{\prime}(z)\right| \cdot\left|\frac{1-z^{m}}{1-z}\right|^{2} d \alpha \\
J_{1} & =c \int_{0}^{1} \frac{1}{|1-z|^{2}} \cdot\left|\frac{1-z^{m}}{1-z}\right|^{2} d \alpha \\
J_{2} & =\int_{0}^{1}\left|\sum_{n=0}^{\infty} P_{k}(A, c, n) z^{n}\right| \cdot\left|\frac{1-z^{m}}{1-z}\right|^{2} d \alpha \\
J_{3} & =\int_{0}^{1}\left|(1-z) \sum_{n=1}^{\infty} n P_{k}(A, c, n) z^{n-1}\right| \cdot\left|\frac{1-z^{m}}{1-z}\right|^{2} d \alpha .
\end{aligned}
$$

By (2.3), we have

$$
\begin{equation*}
J \leq J_{1}+J_{2}+J_{3} \tag{2.4}
\end{equation*}
$$

By Cauchy's inequality, (2.1) and (2.2) we have

$$
\begin{align*}
F^{k}\left(r^{2}\right)= & \frac{c r^{2}}{1-r^{2}}+\left(1-r^{2}\right) \sum_{n=0}^{\infty} P_{k}(A, c, n) r^{2 n}  \tag{2.5}\\
= & \frac{c}{2} N\left(1+o_{N}(1)\right) \\
& +O\left(\frac{1}{N}\left(\sum_{n=0}^{\infty} r^{2 n}\right)^{1 / 2}\left(\sum_{n=0}^{\infty} P_{k}^{2}(A, c, n) r^{2 n}\right)^{1 / 2}\right) \\
= & \frac{c}{2} N\left(1+o_{N}(1)\right)+O\left(N^{1 / 4}\right)=\frac{c}{2} N\left(1+o_{N}(1)\right)
\end{align*}
$$

By (2.1), 2.3), Cauchy's inequality and Lemma 2.1 (noting that $r^{2 n} \leq r^{n}$ ), we have

$$
\begin{align*}
& k F^{k-1}\left(r^{2}\right) F^{\prime}\left(r^{2}\right)  \tag{2.6}\\
&= \frac{c}{\left(1-r^{2}\right)^{2}}-\sum_{n=0}^{\infty} P_{k}(A, c, n) r^{2 n}+\left(1-r^{2}\right) \sum_{n=1}^{\infty} n P_{k}(A, c, n) r^{2 n-2} \\
&= \frac{c}{4} N^{2}\left(1+o_{N}(1)\right)+O\left(\left(\sum_{n=0}^{\infty} r^{2 n}\right)^{1 / 2}\left(\sum_{n=0}^{\infty} P_{k}^{2}(A, c, n) r^{2 n}\right)^{1 / 2}\right) \\
&+O\left(\frac{1}{N}\left(\sum_{n=0}^{\infty} n^{2} r^{2 n}\right)^{1 / 2}\left(\sum_{n=0}^{\infty} P_{k}^{2}(A, c, n) r^{2 n}\right)^{1 / 2}\right) \\
&= \frac{c}{4} N^{2}\left(1+o_{N}(1)\right)+O\left(N^{5 / 4}\right)+O\left(\frac{1}{N} N^{9 / 4}\right)=\frac{c}{4} N^{2}\left(1+o_{N}(1)\right)
\end{align*}
$$

By (2.5) and 2.6) we have

$$
\begin{equation*}
F^{\prime}\left(r^{2}\right)=\frac{1}{k} 2^{-1-1 / k} c^{1 / k} N^{1+1 / k}\left(1+o_{N}(1)\right) \tag{2.7}
\end{equation*}
$$

If $k=2 l$ is even, similarly to the proof of [1, Theorem 1.1], by 2.5, 2.7), $0<F\left(r^{4}\right)<F\left(r^{2}\right)$ and $0<F^{\prime}\left(r^{4}\right)<F^{\prime}\left(r^{2}\right)$, we find that

$$
\begin{equation*}
J \geq[k / 2]!2^{-3 / 2} \delta N^{2}\left(1+o_{N}(1)\right) \tag{2.8}
\end{equation*}
$$

If $k=2 l+1$ is odd, then by $r_{k}(A, x)=c x+o(x)$ and

$$
A^{k}(M) \geq \sum_{a_{i_{1}}+\cdots+a_{i_{k}} \leq M} 1=r_{k}(A, M)
$$

we have

$$
A(M) \geq \sqrt[k]{c M}\left(1+o_{M}(1)\right)
$$

Thus, similarly to the proof of [1, Theorem 1.1], by 2.5), 2.7), $0<F\left(r^{4}\right)<$ $F\left(r^{2}\right)$ and $0<F^{\prime}\left(r^{4}\right)<F^{\prime}\left(r^{2}\right)$, we see that

$$
\begin{equation*}
J \geq[k / 2]!2^{-3 / 2+1 /(2 k)} \frac{k}{k+1} \delta^{1+1 / k} N^{2}\left(1+o_{N}(1)\right) \tag{2.9}
\end{equation*}
$$

By 2.8 and 2.9 we get

$$
\begin{equation*}
J \geq[k / 2]!2^{-3 / 2+\tau_{k} /(2 k)} \frac{k}{k+\tau_{k}} \delta^{1+\tau_{k} / k} N^{2}\left(1+o_{N}(1)\right) \tag{2.10}
\end{equation*}
$$

where $\tau_{k}=k-2[k / 2]$. Similarly to the proof of [1, Theorem 1.1], we deduce

$$
\begin{equation*}
J_{1} \leq \frac{1}{2} c m^{2} N\left(1+o_{N}(1)\right)=\frac{1}{2} \delta^{2} N^{2}\left(1+o_{N}(1)\right) \tag{2.11}
\end{equation*}
$$

By Cauchy's inequality, Parseval's formula and 2.1 we have

$$
\begin{align*}
J_{2} & \leq m^{2} \int_{0}^{1}\left|\sum_{n=0}^{\infty} P_{k}(A, c, n) z^{n}\right| d \alpha  \tag{2.12}\\
& \leq m^{2}\left(\int_{0}^{1}\left|\sum_{n=0}^{\infty} P_{k}(A, c, n) z^{n}\right|^{2} d \alpha\right)^{1 / 2} \\
& =m^{2}\left(\sum_{n=0}^{\infty}\left|P_{k}(A, c, n)\right|^{2} r^{2 n}\right)^{1 / 2} \\
& =O\left(m^{2} N^{3 / 4}\right)=O\left(N^{7 / 4}\right)
\end{align*}
$$

Similarly,

$$
\begin{aligned}
J_{3} & =\int_{0}^{1}\left|\sum_{n=1}^{\infty} n P_{k}(A, c, n) z^{n-1}\right| \cdot\left|\frac{1-z^{m}}{1-z}\left(1-z^{m}\right)\right| d \alpha \\
& \leq\left(\int_{0}^{1}\left|\sum_{n=1}^{\infty} n P_{k}(A, c, n) z^{n-1}\right|^{2} d \alpha\right)^{1 / 2} \cdot\left(\int_{0}^{1}\left|\frac{1-z^{m}}{1-z}\left(1-z^{m}\right)\right|^{2} d \alpha\right)^{1 / 2} \\
& =\left(\sum_{n=1}^{\infty} n^{2} P_{k}^{2}(A, c, n) r^{2 n-2}\right)^{1 / 2} \cdot\left(\left(1+r^{2 m}\right) \sum_{j=0}^{m-1} r^{2 j}\right)^{1 / 2} \\
& \leq(2 m)^{1 / 2}\left(\sum_{n=1}^{\infty} n^{2} P_{k}^{2}(A, c, n) r^{2 n-2}\right)^{1 / 2}
\end{aligned}
$$

Let $f(x)=x^{2} r^{x}$. Then

$$
f(x) \leq f\left(-\frac{2}{\log r}\right)=\frac{4 e^{-2}}{\log ^{2} r}<4 e^{-2} N^{2}
$$

Thus, by (2.1) we have

$$
\begin{aligned}
\sum_{n=1}^{\infty} n^{2} P_{k}^{2}(A, c, n) r^{2 n-2} & \leq 4 e^{-2} N^{2} r^{-2} \sum_{n=1}^{\infty} P_{k}^{2}(A, c, n) r^{n} \\
& \leq 4 e^{-2} N^{2} r^{-2}\left(H(k, c)-\varepsilon_{0}\right) N^{3 / 2} \\
& =4 e^{-2}\left(H(k, c)-\varepsilon_{0}\right) N^{7 / 2}\left(1+o_{N}(1)\right)
\end{aligned}
$$

Hence

$$
\begin{align*}
J_{3} & \leq 2 \sqrt{2} e^{-1}\left(H(k, c)-\varepsilon_{0}\right)^{1 / 2} m^{1 / 2} N^{7 / 4}\left(1+o_{N}(1)\right)  \tag{2.13}\\
& \leq 2 \sqrt{2} e^{-1}\left(H(k, c)-\varepsilon_{0}\right)^{1 / 2} c^{-1 / 4} \delta^{1 / 2} N^{2}\left(1+o_{N}(1)\right)
\end{align*}
$$

By (2.4) and $2.10-2.13$ we have
$[k / 2]!2^{-3 / 2+\tau_{k} /(2 k)} \frac{k}{k+\tau_{k}} \delta^{1+\tau_{k} / k} N^{2}$
$\leq \frac{1}{2} \delta^{2} N^{2}+O\left(N^{7 / 4}\right)+2 \sqrt{2} e^{-1}\left(H(k, c)-\varepsilon_{0}\right)^{1 / 2} c^{-1 / 4} \delta^{1 / 2} N^{2}+o\left(N^{2}\right)$.
Dividing by $N^{2}$ and letting $N \rightarrow \infty$, we find that
$[k / 2]!2^{-3 / 2+\tau_{k} /(2 k)} \frac{k}{k+\tau_{k}} \delta^{1+\tau_{k} / k} \leq \frac{1}{2} \delta^{2}+2 \sqrt{2} e^{-1}\left(H(k, c)-\varepsilon_{0}\right)^{1 / 2} c^{-1 / 4} \delta^{1 / 2}$.
So

$$
\left(H(k, c)-\varepsilon_{0}\right)^{1 / 2} \geq \frac{\sqrt{2}}{4} e c^{1 / 4}\left([k / 2]!2^{-3 / 2+\tau_{k} /(2 k)} \frac{k}{k+\tau_{k}} \delta^{1 / 2+\tau_{k} / k}-\frac{1}{2} \delta^{3 / 2}\right)
$$

Taking

$$
\delta=3^{-k /\left(k-\tau_{k}\right)} \frac{1}{\sqrt{2}}\left(1+\frac{\tau_{k}}{k+\tau_{k}}\right)^{k /\left(k-\tau_{k}\right)}([k / 2]!)^{k /\left(k-\tau_{k}\right)},
$$

we get

$$
\begin{aligned}
\left(H(k, c)-\varepsilon_{0}\right)^{1 / 2} & \geq \frac{\sqrt{2}}{4} e c^{1 / 4}\left([k / 2]!2^{-3 / 2+\tau_{k} /(2 k)} \frac{k}{k+\tau_{k}} \delta^{1 / 2+\tau_{k} / k}-\frac{1}{2} \delta^{3 / 2}\right) \\
& =2^{-9 / 4} e c^{1 / 4} \frac{k-\tau_{k}}{k+2 \tau_{k}}\left(\frac{k+2 \tau_{k}}{3\left(k+\tau_{k}\right)}\left[\frac{k}{2}\right]!\right)^{3 k /\left(2 k-2 \tau_{k}\right)} \\
& =(H(k, c))^{1 / 2},
\end{aligned}
$$

a contradiction. This completes the proof of Theorem 2.3 .
Proof of Theorem 1.2. Suppose that there exists an $\varepsilon_{0}>0$ such that

$$
\begin{equation*}
S_{k}(A, c, M)=\sum_{n=0}^{M} P_{k}^{2}(A, c, n) \leq\left(H(k, c)-\varepsilon_{0}\right)(\Gamma(5 / 2))^{-1} M^{3 / 2} \tag{2.14}
\end{equation*}
$$

for all sufficiently large integers $M$. Then $P_{k}^{2}(A, c, M) \ll M^{3 / 2}$. This means that $r_{k}(A, x)=c x+O\left(x^{3 / 4}\right)$. Since

$$
\begin{aligned}
\sum_{n=0}^{\infty} P_{k}^{2}(A, c, n) r^{n} & =\sum_{n=0}^{\infty}\left(S_{k}(A, c, n)-S_{k}(A, c, n-1)\right) r^{n} \\
& =\sum_{n=0}^{\infty} S_{k}(A, c, n) r^{n}-\sum_{n=0}^{\infty} S_{k}(A, c, n-1) r^{n}
\end{aligned}
$$

$$
=\sum_{n=0}^{\infty} S_{k}(A, c, n) r^{n}-\sum_{n=0}^{\infty} S_{k}(A, c, n) r^{n+1}=\frac{1}{N} \sum_{n=0}^{\infty} S_{k}(A, c, n) r^{n},
$$

by Theorem 2.3 we have

$$
\sum_{n=0}^{\infty} S_{k}(A, c, n) r^{n} \geq\left(H(k, c)-\frac{1}{2} \varepsilon_{0}\right) N^{5 / 2}
$$

On the other hand, by (2.14) and Lemma 2.1 we get

$$
\begin{aligned}
\sum_{n=0}^{\infty} S_{k}(A, c, n) r^{n} & \leq O(1)+\left(H(k, c)-\varepsilon_{0}\right)(\Gamma(5 / 2))^{-1} \sum_{n=0}^{\infty} n^{3 / 2} r^{n} \\
& =\left(H(k, c)-\varepsilon_{0}\right) N^{5 / 2}(1+o(1)),
\end{aligned}
$$

a contradiction. Therefore

$$
\sum_{n=0}^{M} P_{k}^{2}(A, c, n) \geq\left(H(k, c)(\Gamma(5 / 2))^{-1}-\varepsilon\right) M^{3 / 2}
$$

for infinitely many positive integers $M$. The proof of Theorem 1.2 is completed by an appeal to Lemma 2.2.

Proof of Corollary 1.3. Let $\delta=(\Gamma(5 / 2))^{-1 / 2} \sqrt{H(k, c)}-\varepsilon>\varepsilon$. Since $r_{k}(A, x)=c x+O\left(x^{\beta}\right)$, there exists a constant $C>0$ such that

$$
\left|P_{k}(A, c, n)\right|=\left|r_{k}(A, n)-c n\right|<C n^{\beta}
$$

for all $n \geq 1$. By Theorem 1.2 and Lemma 2.2 we have

$$
\sum_{n=0}^{M} P_{k}^{2}(A, c, n) \geq\left(H(k, c)(\Gamma(5 / 2))^{-1}-\frac{1}{2} \varepsilon^{2}\right) M^{3 / 2}
$$

for infinitely many positive integers $M$. Since

$$
\begin{aligned}
& \sum_{n=0}^{M} P_{k}^{2}(A, c, n) \\
& \quad=\sum_{\substack{0 \leq n \leq M \\
\left|P_{k}(A, c, n)\right|<\delta M^{1 / 4}}} P_{k}^{2}(A, c, n)+\sum_{\substack{0 \leq n \leq M \\
\left|P_{k}(A, c, n)\right| \geq \delta M^{1 / 4}}} P_{k}^{2}(A, c, n) \\
& \quad \leq \delta^{2} M^{1 / 2} \sum_{\substack{0 \leq n \leq M}} 1+C^{2} M^{2 \beta} \sum_{\substack{0 \leq n \leq M \\
\left|P_{k}(A, c, n)\right|<\delta M^{1 / 4}}} 1 \\
& \quad \leq \delta^{2} M^{3 / 2}+\delta^{2} M^{1 / 2}+C^{2} M^{2 \beta}\left|\left\{0 \leq n \leq M:\left|P_{k}(A, c, n)\right| \geq \delta M^{1 / 4}\right\}\right|,
\end{aligned}
$$

we have

$$
\begin{aligned}
\mid\{0 \leq n \leq M & \left.:\left|P_{k}(A, c, n)\right| \geq \delta M^{1 / 4}\right\} \mid \\
& \geq\left(H(k, c)(\Gamma(5 / 2))^{-1}-\frac{1}{2} \varepsilon^{2}-\delta^{2}-\delta^{2} M^{-1}\right) C^{-2} M^{3 / 2-2 \beta} \\
& \geq(\Gamma(5 / 2))^{-1 / 2} \sqrt{H(k, c)} C^{-2} \varepsilon M^{3 / 2-2 \beta}
\end{aligned}
$$

for infinitely many positive integers $M$.
Proof of Theorem 1.4. By Theorem 2.3.

$$
\sum_{n=0}^{\infty} P_{k}^{2}(A, c, n) r^{n} \geq\left(H(k, c)-\frac{1}{2} \varepsilon\right) N^{3 / 2}
$$

for all sufficiently large $N$. Since $r_{k}(A, x)=c x+o(x)$, we have

$$
P_{k}^{2}(A, c, n)=o\left(n^{2}\right)
$$

Thus

$$
\sum_{n>5 N \log N} P_{k}^{2}(A, c, n) r^{n}=o\left(\sum_{n>5 N \log N} n^{2} r^{n}\right)
$$

Let $f(x)=x^{2} r^{x / 2}$. Then

$$
\begin{aligned}
f^{\prime}(x) & =2 x r^{x / 2}+\frac{1}{2} x^{2} r^{x / 2} \log r=\frac{1}{2} x r^{x / 2}(4+x \log r) \\
& <\frac{1}{2} x r^{x / 2}\left(4-\frac{x}{N}\right)<0
\end{aligned}
$$

for $x \geq 5 N \log N$. Hence

$$
\log f(n) \leq \log f(5 N \log N)=2 \log (5 N \log N)+\frac{5}{2} N \log N \log r<0
$$

for $n \geq 5 N \log N$ and sufficiently large $N$. Thus $f(n)<1$ for $n \geq 5 N \log N$ and sufficiently large $N$. Hence

$$
\begin{aligned}
\sum_{n>5 N \log N} P_{k}^{2}(A, c, n) r^{n} & =o\left(\sum_{n>5 N \log N} n^{2} r^{n}\right) \\
& =o\left(\sum_{n>5 N \log N} r^{n / 2}\right)=o\left(\frac{r^{2.5 N \log N}}{1-\sqrt{r}}\right) \\
& =o\left(e^{2.5 N \log N \log r} N(1+\sqrt{r})\right)=o(1)
\end{aligned}
$$

Thus

$$
\sum_{n \leq 5 N \log N} P_{k}^{2}(A, c, n) \geq \sum_{n \leq 5 N \log N} P_{k}^{2}(A, c, n) r^{n} \geq(H(k, c)-\varepsilon) N^{3 / 2}
$$

for all sufficiently large $N$. Let $M$ be any sufficiently large number. Let $N$ be a positive number with $M=5 N \log N$. Then

$$
N=\frac{M}{5 \log M}(1+o(1))
$$

and

$$
\sum_{n \leq M} P_{k}^{2}(A, c, n) \geq\left(5^{-3 / 2} H(k, c)-\varepsilon\right)\left(\frac{M}{\log M}\right)^{3 / 2}
$$

By Lemma 2.2 the proof of Theorem 1.4 is complete.
Acknowledgements. This research was partly supported by the National Natural Science Foundation of China (grant nos. 11071121 and 10901002). We would like to thank the referee for his/her comments.

## References

[1] Y. G. Chen and M. Tang, A quantitative Erdốs-Fuchs theorem and its generalization, Acta Arith. 149 (2011), 171-180.
[2] P. Erdôs and W. H. J. Fuchs, On a problem of additive number theory, J. London Math. Soc. 31 (1956), 67-73.
[3] G. Horváth, An improvement of an extension of a theorem of Erdö́s and Fuchs, Acta Math. Hungar. 104 (2004), 27-37.
[4] -, On a theorem of Erdốs and Fuchs, Acta Arith. 103 (2002), 321-328.
[5] -, On a generalization of a theorem of Erdốs and Fuchs, Acta Math. Hungar. 92 (2001), 83-110.
[6] M. N. Huxley, Exponential sums and lattice points III, Proc. London Math. Soc. (3) 87 (2003), 591-609.
[7] Y. K. Lau and K. M. Tsang, On the mean square formula of the error term in the Dirichlet divisor problem, Math. Proc. Cambridge Philos. Soc. 146 (2009), 277-287.
[8] H. L. Montgomery and R. C. Vaughan, On the Erdös-Fuchs theorems, in: A Tribute to Paul Erdős, Cambridge Univ. Press, Cambridge, 1990, 331-338.
[9] W. G. Nowak, Lattice points in a circle: an improved mean-square asymptotics, Acta Arith. 113 (2004), 259-272.
[10] A. Sárközy, On a theorem of Erdớs and Fuchs, ibid. 37 (1980), 333-338.
[11] M. Tang, On a generalization of a theorem of Erdö́s and Fuchs, Discrete Math. 309 (2009), 6288-6293.

## Yong-Gao Chen

School of Mathematical Sciences
and Institute of Mathematics
Nanjing Normal University
Nanjing 210046, P.R. China
Min Tang
Department of Mathematics
Anhui Normal University
Wuhu 241000, P.R. China
E-mail: ygchen@njnu.edu.cn

Received on 21.2.2011
and in revised form on 10.7.2011


[^0]:    2010 Mathematics Subject Classification: 11B34, 11P21.
    Key words and phrases: Erdős-Fuchs theorem, representation function, circle problem, lattice points, mean square.

